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: 8 yod ‘ rouad slosal, @,
.o V0 | Pz =S,¢c0s0(0.25) = P, =10 x 0.8 = 8KW(0.25) 1A

Py =P; + Ps + P, (0.25) = 8+ 0.5 + 0.3 = 8.8KW(0.25)

P2

n = 2~ 100(0.25) = 90.9% (0.25)
1

‘ — 94

St =2UI(0.25) =2 x 400 x 18.04 = 14.432KVA(0.25)

60f 60 x 60 .
1800—-1440

ng—n _ _
s= o (0.25) = 1500 =0.2(0.25)

<) Py =vV3ULI cos®(0.25) = V3 x 380 X 10 X 0.8 = 5265. 4w(0.25)

' Py — AP 5265.4 - 765
= ——— = = 0,
LI ) (0.25) 5265 4 0.85 1,85%(0.25)

60 x 50 Yy

1/ _ _
Too0 —P= 3,2p = 6(0.25)

60f
) ng = _p_(o,zs) =p=
) fr =8fs(0.25) = 2 =5 x50 = S = 0.04 (0.25)

n.=(1-s)n; (0.25)=(1-0.04)x1000=960 RPM (0.25)

Y | W) Py =v3ULl cos® (0.25) = P; =3 x 380 X 50 X 0.9 = 29618W (0.25) YY
P, = P; — AP(0.25) = 29618 — (800 4+ 1100 + 418 + 500) = 26800W (0. 25)

) Pc = P + P (0.25) = 26800 + 418 = 27218W (0.25)
X P, 60 x 27218

DT = (025 = 5= =5 7000

= 272.18 Nm (0.25)
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